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GS-II OF OCS 
ANSWER KEYS &CRYPTIC SOLUTIONS

1. D 
Explanation:  
3,13,23,30,31,32,33,34,35,36,37,38,39,43,53,63,
73,83,93=20 times. 
2. B 
Explanation: 
ADVENTURE,DVENTURE,DVENTUR,VENTUR,
VENTU---- 
BOLD letter are going to be missing in the 
sequence--- 
3. A 
Explanation: CHAIRS,bold letters are possible 
pairs. 
4. A 
Explanation: ejo,tyd,ins,xch,mrw---
5. B 
Explanation: 3F, 6G, 1 1I, 18L, 27P (3,
numeric difference) (1, 2, 3, 
difference) 
6. A 
Explanation: BMO, EOQ, HQS, KSU (the 
differences are 3,2,2). 
7. C 
Explanation: P3C, R5F, T8I, V12L,X17O(the 
differences are 2,2,3) 
8. C 
9. A 
Explanation: ABN, CDO, EFP, GHQ
10. D 
Explanation: I1998/E1998=1.25 
Where I=Import & E=Export. 
E1998=250/1.25=200 crores 
E1999=500-200=300 crores 
I1999/E1999=1.4 
I1999=1.4×300=420 crores 
11.  C 
Explanation: The value of I/E ratio is lowest in 
1997 i.e. 0.35. 
12. D 
Explanation: Date inadequate 
I1997/E1997=0.35------------(1) 
I1998/E1998=1.25-------------(2) 
Equations cannot be solved. 
13. B 
Explanation: I1996/E1996=0.85 
E1996=272/0.85=320 crores 
14. D 
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3,13,23,30,31,32,33,34,35,36,37,38,39,43,53,63,

ADVENTURE,DVENTURE,DVENTUR,VENTUR,

BOLD letter are going to be missing in the 

: CHAIRS,bold letters are possible 

---+3 

27P (3, 5, 7, 9-
 4-alphabetical 

: BMO, EOQ, HQS, KSU (the 

V12L,X17O(the 

: ABN, CDO, EFP, GHQ 

The value of I/E ratio is lowest in 

Explanation: I/E ratio<1 in four(95.96,97,00) 
years. 
15. C 
Explanation: Total students failed in half
but passed in annual examination in four 
sections=14+12+8+13=47
Similarly, Total students passed in half
failed in annual examination oin four 
sections=6+17+9+15=47 
So,both the examinations had  almost same 
difficulty level. 
16. D 
Explanation: Total students=Students of section 
A+Students of Section B+Students of Section 
C+Students of section D. 
Students of Section A=Total fail students+ Total 
pass students=(14+6+28)+64=112
Similarly for Section B=117, Section C=80 & 
Section D=131 
So,total students=112+107+80+131=430.
17. D 
Explanation: For section A,(14+6+64/ 
28+14+6+64)100 =(84/112)100=75%.Similarly for 
Section B ,C,D percentage are 78.5,78.75, 
respectively. 
18. A  
Explanation: (14+64/28+14+6+6)100=69.64 and 
for B,C and D the percentages are 62,67.5 and 
67.94 respectively. 
19. Wrong Question
20. A 
Explanation: 2,5,10,50,500,5000
The series will be 2*5=10,10*50=500,so the next 
number will be 50*500=25000
21. A 
Explanation: 12+1, 22-1,3
22. C 
Explanation: 3,8,15,24,34,48,63(the difference of 
the series should be 5,7,9,11,13,15
23. B 
Explanation: Z, S,W,O,T,K,Q,G,N  C
24. A 
25. D 
26. B 
Explanation: ba_, ba_, bac_acb_cbac, the
is bacbacbacbacbacbac(CCB
27. B 
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: I/E ratio<1 in four(95.96,97,00) 

: Total students failed in half-yearly 
but passed in annual examination in four 
sections=14+12+8+13=47 
Similarly, Total students passed in half-yearly but 
failed in annual examination oin four 

 
So,both the examinations had  almost same 

Total students=Students of section 
A+Students of Section B+Students of Section 

 
Students of Section A=Total fail students+ Total 

ss students=(14+6+28)+64=112 
Similarly for Section B=117, Section C=80 & 

So,total students=112+107+80+131=430. 

For section A,(14+6+64/ 
28+14+6+64)100 =(84/112)100=75%.Similarly for 
Section B ,C,D percentage are 78.5,78.75, 79.39 

(14+64/28+14+6+6)100=69.64 and 
for B,C and D the percentages are 62,67.5 and 

Wrong Question 

: 2,5,10,50,500,5000 
The series will be 2*5=10,10*50=500,so the next 

50*500=25000 

,32+1,102-1,992+1 

: 3,8,15,24,34,48,63(the difference of 
the series should be 5,7,9,11,13,15---) 

: Z, S,W,O,T,K,Q,G,N  C 

: ba_, ba_, bac_acb_cbac, the series 
is bacbacbacbacbacbac(CCB(A) 



 

 

Explanation: DHL,PTX, BFJ, NRV(difference is 

+3) 
28. B 
Explanation: AZ, GT,MN,SH,YB 

A,B,C,D,E,F,G,H,I,J,K,L,M 
Z,Y,X,W,V,U,T,S,R,Q,P,O, 
29.  D 
Explanation: 90*5/18=25m/sec=v1

60*5/18=300/18 m/sec=v2 

Applying fotmula,t=l1+l2/v1+v2,l2=0(as it is a 
passenger) and solving, 
            l1=225m 
30. A 
Explanation: averge speed= 2uv/u+v= 2.25km/hr
31. A 
Explanation: 4.5*5/5-4.5=22.5/0.5=45hours
32. B 
Explanation: A=6p*12,B=2p*12,C=3p*12

By adding 11p=6600, 
2p=1200 
33. C 
Explanation: S.I=PTR/100,P=16P,8I= 9P,T

25*9/4= 15/2 
34. D 
35. D 
36. A 
Explanation: (200/200)100=100 
37. D 
Explanation: 

225+200+200+100+60+75/6=860/6=143
38. B 
Explanation:35,000*18/100=6300,Total amount 

= 35,000+6300=41300 
41300*20/100=41300+8260=49563(approx)
39. D 

56000*16/100 = 8960, 56000*13 
7280= 1680 
40. B 
Explanation: (210-150/150) 100=(60/150)

40 
41 . A 42 . C 43 . D 44. C 45
46. D 47 . A 48. B.  49.B.  50

  

 

: DHL,PTX, BFJ, NRV(difference is 

1 

0(as it is a 

: averge speed= 2uv/u+v= 2.25km/hr 

4.5=22.5/0.5=45hours 

: A=6p*12,B=2p*12,C=3p*12 

: S.I=PTR/100,P=16P,8I= 9P,T2= 

225+200+200+100+60+75/6=860/6=143 

:35,000*18/100=6300,Total amount 

63(approx) 

 = 7280,8960 -

100=(60/150) 100 = 

45. D  
50. C 

51 . B 52. D 53. C 54
55 . B 56. A 57. B 58. 
59. A 60. D 61. B 62
63. B 64. D 65. D 66
67 . A 68 . A 69 . D 70
71 . C 72 . B 73. B 74 
75. C 
Explanation: 45*24/10=108
76. C 
Explanation: Present age is now=x

12 year before=x-12 
After one year=x+1 
X+1=2(x-12) 
X+1=2x-24 
25=x 
77. A 
Explanation: Age of Father

Mother age-Ayush age=20 years
Now Auyush=20 years 
When he was born his mother was 20 years
According to question her mother age at the time 
marriage was=20-2=18 years
Father-18=5 
Father=5+18=23 
78. D 
Explanation: R+G+B=108

G+R+2B.B=2R,G+R=4R 
G=3R 
R+3R+2R=108,R=18.G=3R=54
79. A 
Explanation: Sis-Brother=4yrs

Brother-Ravi=3yrs 
Father=28 yrs,when his sister was born
After 4 years his brother was borns
So father age=28+4=32 
Mother age=26-3=23 years
80. C 
Explanation:3x=15,2x=10(

y-z=5,y+z=35,y=20,where y and z are  number of 
girls and boys not participating, so total no of girls 
20+10=30
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54. D 
58. C 
62. B 
66. C 
70. A 
74 . D 

45*24/10=108 

: Present age is now=x 

Age of Father-Age of Mother=5yrs 

Ayush age=20 years 

When he was born his mother was 20 years 
According to question her mother age at the time 

2=18 years 

: R+G+B=108 

 

R+3R+2R=108,R=18.G=3R=54 

Brother=4yrs 

Father=28 yrs,when his sister was born 
After 4 years his brother was borns 

3=23 years 

3x=15,2x=10(total girls participating) 

z=5,y+z=35,y=20,where y and z are  number of 
girls and boys not participating, so total no of girls 


